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110 RXERCISES IN ALOKDUA,

(10,) 'rraiiHpMst!, jiihI x'^ - 2.»'i/ 4- y' ^- .'/' - 2}/,~ + z^ + z'^
-

'2ii:: + 11- --^ (x -
J/)-'+ ((/

- zy + (r; + a)'. Sinco the

s(|naro <»f fmy(|U!mtity is positive, .". each (expres-

sion ia jjositivi!, Jind cniinoi ho zero iinleHH each

(juaMtity is zero, .". j;-i/ = 0, y~z = 0, z~u= Oy

:, x= y=z=n.

EXERCISE XXIV.

(1.) '<'-8a''+ 2.3rt 20. (2.) . (3.) . (4.)

Page 53. (6.) 21) miles. ((J.)-- (7.) . (8.)

(9.) x' -((i + hyx + dh^x^ + x + l. Since co-etticients of

like i)ower3 are equal, .". a + b= — 1 and a6 = l, .'.

(«»+ ?>» -2.

(10.) a+ b= -c, multiply by (t — }>, etc.

EXERCISE XXV.
(1.)

13a

(7.) 5^-^ -2^-1. (8.) x = 10.(5.)a= 8. (6.)-:-.

(9.) Let 05 — 3, X - 1, x+ 1, x + 3, be the numbers, etc.

(10.)

EXERCISE XXVI.

Page 64. (1.) x= 10a. (2.) Let iC= one, x + d the other, etc.

(3-) -%tf-- +1= ^^ + 1' ^'tc. (4.) 216.

(6.) a^ + 2a'b-ab''-2h\ (6.) m^- 12m + 35.

(7. ) (x' - 3x + 17) (x' + 3,c + 17).

(8.) a;'^-3x + 2 is a factor and =0, .'. expression =0.

(9.) Write (l - 1+1-1+1-1-1)^2-

(^ + l+^)'^t«-'=l- (10-)

EXERCISE XXVII.
4a;-+2a;-l

(1.) Factor the expression. (2.) ^

(3.) . (4.) . (5.) -ia+ f/>-^c.

(6.) . (7.) ];;..

Page 55. (8.) G. (9.) 405 yards. (10.) x= a+ b+ c.


